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1 1 7,0 |C |Ps  [szarobrazowy nw_ |szg 0,0 1,1]96,9] 1,9]0,1] 2,7] 1,2] 2,9]0,9] 0,000136] 0,000044] 0,000146] 0,123] 0,63 NIE
2 1 3,2 |B|T czarny w - 207,6 | 11,22 50,39|TAK
3 2 9,0 [C |Pr |szarobrazowy nw_ |szg 0,0 4,1]94,0 1,8]0,1] 2,3] 1,2] 3,1[1,3] 0,000661] 0,000347] 0,000595| 0,134| 0,29 NIE | 1Vh
4 3 1,8 [B |Ps _ [brazowy w In 0,0 4,8]/93,1] 2,0]0,1] 3,4] 1,3] 4,0[1,2] 0,000141] 0,000064] 0,000140[ 0,118] 0,62| 13,1 NIE | Iva
5 7 1,5 |B |Ps _ [brazowy w In 0,0 4,9]93,4 1,6/0,1] 2,5/ 1,0 3,5/1,2] 0,000175] 0,000094] 0,000164| 0,121] 0,55] 18,2 NIE | 1va
6 7 2,2 |B|T czarny w - 180,8 | 12,20 41,88|TAK | 11
7 8 1,2 [B [Po  [brazowy w__|In 0,0/ 13,2]86,1] 0,6/0,0] 1,1] 0,4] 3,8[0,9] 0,000519] 0,000254] 0,000483] 0,125] 0,32 4,5 NIE %
8 9 5,0 |C |Po  [szarobrazowy nw__[In 0,0[17,1]81,7[ 1,1]0,1] 1,5] 0,7 3,6[1,1] 0,000660] 0,000337] 0,000579] 0,125] 0,29 NIE v
9 10 7,0 |C [Po [szarobrazowy nw_|In 0,0{ 22,2]76,6] 1,2]0,1] 1,5] 0,7 4,0/ 1,0] 0,000685] 0,000380] 0,000615] 0,123] 0,28 NIE %
10 12 4,5 |C |[Ps__ |brazowy nw__[In 0,0 8,2|88,8[ 2,8/0,1] 4,0] 1,8 4,8/1,2] 0,000165] 0,000117| 0,000159] 0,117| 0,57 NIE | 1Iva
11 12 6,5 |C |Pr |szarobrazowy nw_|szg 0,0 2,7/96,2] 1,0[0,0] 1,4 0,7 2,8/1,0] 0,000672| 0,000278] 0,000668| 0,138] 0,28 NIE | IVb




